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QUESTION 1

The source material for your policy model says: 

To be eligible for the program, there must be at least one child in the family under 18 years of age. The payment amount
for the family is based on the total income of all family members. If a family member has multiple jobs, include income 

from all jobs. 

Which two steps should you perform? 

A. Create two entities: the family member, the family member\\'s job. 

B. Create an interred entity for "the job" to allow for family members with multiple jobs. 

C. Create three entities: the family member, the family member\\'s age, the family member\\'s job. 

D. Create three attributes (the first job, the second job, the third job) to allow for family members with multiple jobs. 

E. Create two entities: the family member, the family member\\'s age. 

F. Use an entity function to calculate a family member\\'s total income from all their jobs. 

Correct Answer: DE 

 

QUESTION 2

When creating your rules, you have used the attribute "the gun fired accidentally". When adding this input to a screen,
you notice that the question form of this attribute is "Is the gun fired accidentally true?". 

In which way should you resolve this issue to ensure that the word "true" is not included in any text shown to the
interview user (including explanations)? 

A. Add the verb "to fire" and change the attribute sentence forms in the Edit Attribute dialog box. 

B. Remove the word `accidentally" from the attribute text. 

C. Create a custom attribute text in the Edit Attribute dialog box. 

D. Add the verb "to fire". 

E. Change the question text on the screen. 

Correct Answer: C 

 

QUESTION 3

Which four are valid reasons to split an existing Word document containing rules in your Oracle Policy Modeling
project? 

A. Two developers need to work simultaneously on different areas of rules that were originally within the same Word
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document. 

B. You want to use the Debugger to test your rules. 

C. You want to separate rules with different purposes. 

D. Editing the new documents is easier in Microsoft Word because the original document was getting too large. 

E. You want to add comments and footnotes to your rules. 

F. You want to exclude part of the original document from the policy model. 

G. You want to mirror updates to the source material that has divided the source of your rules into two locations. 

H. You want to define screens to run in Oracle Web Determinations. 

Correct Answer: CFGH 

 

QUESTION 4

Which two statements are true regarding the use of logical connectors in rules? 

A. A rule may use both "and" and "or" connectors to link conditions for the same conclusion. 

B. If a Boolean conclusion uses three conditions joined by "and" connectors, the conclusion is true if at least one
condition is satisfied. 

C. The "and" connector may be used at multiple condition levels within the same rule. 

D. The "or" connector increases the number of conditions that must be met for a conclusion to be satisfied. 

Correct Answer: AC 

 

QUESTION 5

Which two statements are correct for a Policy Automation project team? 

A. It is common for the rule author to be the lead tester. 

B. Subject matter experts may advise on policy interpretation, but they should not write the Policy Automation rules. 

C. It is common for the rule author to create the interview screens. 

D. The primary user of Policy Modeling on a project should be the technical developer. 

E. Policy Automation projects must have multiple rule authors. 

F. Policy Automation project teams typically include both technical and nontechnical roles. 

Correct Answer: AC 
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